CCNA3 Module 3

EIGRP

1. What is EIGRP?

2. What advantages do EIGRP have?

3. Why is EIGRP described as a hybrid?

4. What are the major categories do the comparisons between EIGRP and IGRP fall into?

5. Are IGRP and EIGRP compatible with each other?

6. How long is the metric that is used by EIGRP and how long is the metric used by IGRP?

7. What is the maximum hop count of IGRP?

8. What is the maximum hop count of EIGRP?

9. How do EIGRP and IGRP automatically redistribute routes between autonomous systems?

10. In Figure 3, why EIGRP routes are flagged with D?

11. What are the differences between the two outputs?

12. Where do EIGRP routers keep route and topology information readily available?

13. What are the three tables that are maintained by EIGRP?

14. What information does neighbor table keep?

15. Who has the neighbor table?

16. What is a hold time?

17. What does DUAL stand for and what is it?

18. What is the topology table?

19. What information is kept on the topology table?

20. What is successor route?

21. What is a successor? 

22. What fields does the topology include?

23. What is feasible distance?

24. What is route source?

25. What is reported distance?

26. What is interface information?

27. What is route status - passive vs active?

28. What is EIGRP routing table?

29. How is a successor selected?

30. How many successor routes can be up to for any particular destination?

31. Where is a copy of the successor routes placed?

32. What is a feasible successor and where is it kept?

33. How is feasible successor coast computed?

34. What is the function of FS?

35. How can a feasible successor be promoted to successor status?

36. If a FS is not identified from the current information, what does the router do?

37. What two routes does EIGRP classify as?

38. What are considered as external?

39. Is EIGRP a distance vector or link-state protocol?

40. What are the advantages of EIGRP?

41. The reasons why EIGRP routers converge quickly:

· DUAL _____________

· EIGRP sends ______________

· Bounded updates_____________

· Bandwidth ______________

42. What does EIGRP support?

43. What are the improvement in EIGRP?

44.  How does EIGRP establish relationships with their neighbors?

45.  How often does EIGRP send hello packets to their neighbors?

46.  What information do EIGRP routers get from their adjacencies?

47.  What does RTP stand for and what is it?

48.  To stay independent of IP, what does EIGRP use RTP for?

49.  Why is DUAL important to EIGRP?

50. What is one of the best features of EIGRP?

51.  What are the five types of EIGRP packets?

52.  What packets does EIGRP rely on to discovery, verify and rediscover neighbor routers?

53. What IP address do EIGRP routers send hellos to?

54. What is the default hello interval?

55. What is the passive state?

56. If EIGRP does not receive a packet froma neighbor within the hold time, what does EIGRP do?

57. What does this statement mean “Hello packets are always sent unreliably”? 

58. What are acknowledgement packets and what are they used for?

59. What are update packets and what are they used for?

60. What are query packets and what are they used for?

61. If an EIGRP router loses its successor and cannot find a feasible successor for a route, what  does DUAL?

62. Study the rules to select the feasible successor route in Figure 2.

63. Understand the example of how to select the feasible successor.
